MODULE 2- VERSION “B”
JSEA, HAZCOM, INCIDENT PREVENTION
SIGNS & TAGS, PPE & FALL PROTECTION

Do not write on this test question sheet. Circle the letter on the test answer that corresponds to the correct
answer. When test is complete, return this test and your answer sheet to your instructor to grade.

1. What is the OSHA required height for fall protection in general industry?
A. 4feet
B. 6 feet
C. Noreguirement
D. None of the above

2. Which of the following is considered a good tie off point?
A. Hand railing
B. Anchor points
C. Process piping
D. Cable trays

3. While inspecting your fall protection, you should look for all the following:
A. Wear and damage
B. Buckles working properly
C. Signs of a previous fall
D. All of the above

4. Pictograms convey information about:
A. Environmental hazards
B. Physical hazards
C. Mental hazards
D. AandB

5. Harnesses must be protected from:
A. Corrosive materials & vapors
B. Hazardous chemicals & high temperatures
C. Alterations & abuse
D. All of the above

6. What of the following is NOT a responsibility of the employee regarding PPE use?
A. Don and use correctly
B. Care for PPE
C. Design factors
D. Know the limitations
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7. Alob Safety Analysis (JSA) is completed using a series of steps. Which of these steps is
not correct?
A. Write down the steps in the job task
B. Identify hazards
C. Recommend control measures for hazards
D. JSA's take at least one hour

8. Whenis the best time to perform a JSA?
A. After the accident
B. After the work shift
C. Before beginning any new work
D. Only when the boss is there

9. What are the responsibilities of the employer to the employee regarding PPE?
A. Specify the appropriate PPE
B. Training on the PPE
C. Cleaning
D. AandBonly

10. When working from heights, fuil body harnesses do all of the following EXCEPT:
A, Minimize injury
B. Keep you from falling
C. Maintain your body in a vertical position
D. Distributes the force of the fall

11. What other safety precaution must be in effect before the use of PPE?
A. Elimination/Substitution
B. Engineering Controls
C. Administrative Controls
D. All of the above

12. 80% of all errors with fall protection systems involves the anchor point
A, True
B. False

13. Employees working in areas where the noise level exceeds 85 decibels are required to
wear hearing protection.
A. True
B. False

14. Which of the following is NOT a control measures?
A. Engineering controls
B. Administrative controls
C. Supervisor controls
D. PPE
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15. Global Harmonization System (GHS) is the new international approach to hazard
communication. It is the foundation for:
A. Safe use of chemicals
B. Risk Management systems
C. Hazard communication
D. Ail of the above

16. Hard hats are not to he modified in any manner.
A. True
B. False

17. Hazard Communication is also known as the “Right to Know” standard
A. True
B. False

18. The appropriate type of PPE to be worn is determined hy all of the following EXCEPT?
A. Pre job planning
B. Supervisor
C. SDs
D. Employee

19. Barrier creams are considered adequate hand protection.
A. True
B. False

20. Good communication is critical to avoid accidents during simultaneous operations.

A. True
B. False
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